September 22, 2021

Math 125
Fall 2021
Lecture 14

y=ax’+bx+c

Absowle Velve Equatiows
1s \Q'X-\-b\:(‘_}

NO Solhiov when C<O
Otheruise  Dowe Axab=C  or Oxyb=—C

Final ovswer v Solubion Seff.
Bt Sele (2x-3)=3

Ax—> R 2%-3= N
2X =\ 2%=—56

xX=6 X=-3
2}

TS wWe hod Vo3 = -\ —p NO Solwtion
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Sowe | 3x +4| =5

dx 41 =5 OR 3X4=-5
?)le 37(:—0‘
l Y
x=3 X=-3|

53]

N we \’\mA \57(\—“\\:-5 :PMO %o\ojﬁ'om

Solve 2\‘)(4‘6\—1; Q Hin¥* 1solale
the Abs, Velue.
2| %6} =20
|x+¢é| =10
xie=t0  OR k=0
A=H X=-b

6,4}

ASter isalatipg the Abs. Volve S
(X x&\l= -\ =P Qb
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> Hint
N —3\%(—%‘\*(&:]5 oVt As Q\ww{:./

Isolafe the
-3 2x-8| =5 abs. Velve

Sirst,

—2\2x-%\=> rst

Divide by -3
_3 ol 3
Tz)\29( <\ = > NO

o -5) =1 =p (b Selution

Sole abs, Valve ewuodn‘ow in  the ;vvm o
\00( —\—b‘ = \CX J‘A\

Sok
"~ ax4b=Cxad OR  Oxtbo— (C’X&CD

Be Sowe  |3x —| =\x 15| @
3x=X+5 R 3xA=—(X+Y)

X~ =% IN-T=-x -5
X =\2 3 Az =51
Xté ax -2

%L’ 6} 'x_;_é_ @
2
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Solue \2% B 6\ _ \ X -H?_\

on — 6= XX OR 2x—b=-(k412)

20 —x=\24b 2y—f = X N2
| X =18 2% X = —\2 +
| dX = -

Soe | 10| = {xx10|

S
X10=X<10  OR X-10=-(X+l0)
NN
X—X= 10 +\0 X—0--%x -10
Q: 2,0 X -\-’X :“O‘\"O
SO\\SQ_ 2% = O
N Solution Y:OZ -0

10}
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So\we
\3')( *‘L\ —\ZX—S\ =0

\’5% *’L\ = \2X _g\

2x41 =2X-5  OR
3x -2x =-9-1
[ =5
6,91
1ot

Hinb: wWrite
in The S’\'owvu
N

?_thl: |cxcadl|
XXl - 27(*‘5)

32Xyl —2X 5

3X 2X =H-1
5% =4

(— 00, o()) &=
Al Reo\ o‘\om\)e.VS —00
R
Drow QNG
ONex\op
("‘*/6) <
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Cj’\.“’“ & :3/-‘“/ e/ Q-)/"‘lgi
p 56, 1,8,

g.ﬁg«,aeg
AL DR AND @@

- Qesas st Sl weeNs

38,54 36l

o BN, il

SEILNS Sinad  OVSWRY
noravion v 9""‘?“% % Cx & \%
2 VXD
343 < s
G £2x<\0

ds e, 3l 34 W

) Lnfeyyed 1\0\“0* oW\ (3 IS‘B
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S=%-5  Y0)=x+9

%tﬂA
D) (S 9K) 2 $-PX)

esaws ) xenld

D (SYR:(xxe) D (SR

=
-\ —

QDR*‘P\\ é‘ %\\DAQ
Sz S)>2x -3

A =2 X
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Zevo S\ape < Horizontdl \ing 4> Y=b
NO  Blopr b Vertical Lne 4«—> X=0t

Constdey  The | poinf (—3/5\

f m=0
<- —
(35) 8:5
>
No S\oFQ
or--> o




